			Unit	Total		Total
			Replacement		Unit Replacement	Replacement
Item Number	Description	Qty	Cost (CAD)	Cost (CAD)	Cost (USD)	Cost (USD)
FC195-16	1 AQP HIGH PRESSURE HOSE	9	\$12.22	\$109.98	\$9.40	\$84.60
FC250A-24 FC373-8	#24 4 SPIRAL WIRE HOSE 1/2 ID POLYON HOSE	18 50	\$12.46 \$2.17	\$224.28 \$108.50	\$9.58 \$1.67	\$172.52 \$83.46
GH506-24	#24-4 SPIRAL WIRE HOSE	50	\$2.17 \$15.09	\$754.50	\$1.67 \$11.61	\$580.38
07.327-10-6	#10 METRIC FEM HOSE FITTIN	5	\$8.32	\$41.60	\$6.40	\$32.00
07.327-13-8	#13 METRIC FEM HOSE FITTIN	2	\$10.49	\$20.98	\$8.07	\$16.14
FC2383-20	#20 REUSABLE SOCKET	4	\$9.28	\$37.12	\$7.14	\$28.55
FC5853-12-12	3/4 NPSM FITTING	2	\$30.59	\$61.18	\$23.53	\$47.06
FC5982-8-8	#8 JIC 45 HOSE FITTING	2	\$71.58	\$143.16	\$55.06	\$110.12
FC7639-20-20 FC9515-8-8	#20 FEMALE JIC HOSE FITTIN #8 JIC SKIVE FITTING	2 21	\$70.74 \$1.00	\$141.48 \$41.79	\$54.42 \$1.53	\$108.83 \$32.15
FF082-12	5600-12-12 CPLR REPAIR KIT	1	\$1.99 \$4.17	\$4.17	\$3.21	\$3.21
FF2068T-20-24	#20 ORS X #24 ORB 45 ADAPT	10	\$59.49	\$594.90	\$45.76	\$457.62
FF5945T-16-12	#16 ORS X #12 FLANGE	6	\$35.90	\$215.40	\$27.62	\$165.69
FJ3274-10-8	#10 ROTALOCK X 8 HOSE	20	\$30.26	\$605.20	\$23.28	\$465.54
FJ7044-12-12	#12 FORS FITTING	5	\$22.03	\$110.15	\$16.95	\$84.73
FJ7044-8-8	#8 FORS FITTING	59	\$10.74	\$633.66	\$8.26	\$487.43
FJ7346-6-6	#6 ORS 90 FEMALE HOSE FITTING	8	\$47.27	\$378.16	\$36.36	\$290.89
FJ9732-6-6 FJ9733-4-4	#6 ORS FEMALE HOSE FITTING #4 ORS 45 HOSE FITTING	22 1	\$49.41 \$34.65	\$1,087.02 \$34.65	\$38.01 \$26.65	\$836.17 \$26.65
FJ9733-10-10	#10 ORS 45 HOSE FITTING	1	\$41.71	\$41.71	\$32.08	\$32.08
FJ9733-12-12	#12 ORS 45 HOSE FITTING	1	\$53.48	\$53.48	\$41.14	\$41.14
FJ9733-16-16	#16 ORS 45 HOSE FITTING	2	\$37.86	\$75.72	\$29.12	\$58.25
FJ9733-20-20	#20 ORS 45 HOSE FITTING	1	\$25.10	\$25.10	\$19.31	\$19.31
FJ9734-6-6	#6 ORS 90 HOSE FITTING	1	\$38.82	\$38.82	\$29.86	\$29.86
FJ9734-10-10	#10 ORS 90 HOSE FITTING	3	\$46.28	\$138.84	\$35.60	\$106.80
FJ9734-12-12	#12 ORS 90 HOSE FITTING	2	\$115.40	\$230.80	\$88.77	\$177.54
FJ9735-10-10 FJ9735-12-12	#10 ORS 90 HOSE FITTING #12 ORS 90 HOSE FITTING	2 2	\$9.10	\$18.20 \$21.34	\$7.00 \$8.21	\$14.00
FJ9735-12-12 FJ9735-16-16	#16 ORS 90 HOSE FITTING	2	\$10.67 \$18.02	\$36.04	\$13.86	\$16.42 \$27.72
FJ9735-20-20	#20 ORS 90 HOSE FITTING	1	\$37.32	\$37.32	\$28.71	\$28.71
FJ9740-8-8	#8 ORS FEMALE HOSE FITTING	1	\$35.31	\$35.31	\$27.16	\$27.16
FS65002-88-1	8ORB X 1/2FNPT 90 SWIVEL	1	\$32.69	\$32.69	\$25.15	\$25.15
FS65003-24-24-01	#24 JIC X 1-1/2 MF SWIVEL	1	\$62.59	\$62.59	\$48.15	\$48.15
FS65010-1212-01	#12 FNPT X #12 MJIC SWVL	4	\$59.51	\$238.04	\$45.78	\$183.11
FS65025-66-1	6ORB X 6ORS 90 SWIVEL	1	\$45.69	\$45.69	\$35.15	\$35.15
NH1600C200BO750 1A24FL32	2 FLEXMASTER JOINT	4 5	\$60.68 \$43.07	\$242.72 \$215.35	\$46.68 \$33.13	\$186.71 \$165.65
1BA24MJ24	#24 CD61 FLANGE FITTING #24 MALE JIC HOSE FITTING	3	\$43.07 \$94.71	\$284.13	\$72.85	\$218.56
406-24	#24 PTT FEM HOSE FITTING	2	\$160.34	\$320.68	\$123.34	\$246.68
1212-16	#16 100R5 HOSE SOCKET	1	\$5.61	\$5.61	\$4.32	\$4.32
1212-20	#20 100R5 HOSE SOCKET	2	\$7.29	\$14.58	\$5.61	\$11.22
4013-6	#6 REUSABLE SOCKET	10	\$11.64	\$116.40	\$8.95	\$89.54
4013-8	#8 REUSABLE SOCKET	187	\$7.88	\$1,473.56	\$6.06	\$1,133.51
4013-12	#12 REUSABLE SOCKET	9	\$13.99	\$125.91	\$10.76	\$96.85
4013-16 4720-8	#16 REUSABLE SOCKET #8 FLANGE 20 HOSE FITTING	3 12	\$9.94 \$9.17	\$29.82 \$110.04	\$7.65 \$7.05	\$22.94 \$84.65
4720-12	#12 FLANGE 20 HOSE FITTING	4	\$13.73	\$54.92	\$10.56	\$42.25
4720-16-12	#16 FLANGE 20 HOSE FITTING	1	\$15.21	\$15.21	\$11.70	\$11.70
4720-20	#20 FLANGE 20 HOSE FITTING	4	\$24.79	\$99.16	\$19.07	\$76.28
4720-20-16	#20 FLANGE 20 HOSE FITTING	1	\$13.65	\$13.65	\$10.50	\$10.50
4720-24	#24 FLANGE 20 HOSE FITTING	3	\$36.81	\$110.43	\$28.32	\$84.95
4721-6-6	#6 JIC FEMALE HOSE FITTING	4	\$11.60	\$46.40	\$8.92	\$35.69
4721-8-6	#8 JIC FEMALE HOSE FITTING	26	\$14.00	\$364.00	\$10.77	\$280.00
4721-14-12 4721-16	#14JIC FEMALE HOSE FITTING #16JIC FEMALE HOSE FITTING	4 40	\$43.98	\$175.92	\$33.83	\$135.32
4721-10	#20JIC FEMALE HOSE FITTING	40	\$40.49 \$92.80	\$1,619.60 \$371.20	\$31.15 \$71.38	\$1,245.85 \$285.54
4721-20-16	#20JIC FEMALE HOSE FITTING	3	\$34.72	\$104.16	\$26.71	\$80.12
4721-32	#32JIC FEMALE HOSE FITTING	5	\$266.45	\$1,332.25	\$204.96	\$1,024.81
4722-6-6	3/8 NPT MALE HOSE FITTING	17	\$10.27	\$174.59	\$7.90	\$134.30
4722-16-16	1 NPT MALE HOSE FITTING	12	\$32.81	\$393.72	\$25.24	\$302.86
4722-20-20	1-1/4 NPT MALE HOSE FITT	14	\$62.18	\$870.52	\$47.83	\$669.63
4722-24-24	1-1/2 NPT MALE HOSE FITT	4	\$125.59	\$502.36	\$96.61	\$386.43
4725-5-4 4725-8-6	#5 JIC MALE HOSE FITTING	20 2	\$9.83 \$17.84	\$196.60 \$35.68	\$7.56 \$13.72	\$151.23 \$27.45
4725-8-6 4725-12-10	#8 JIC MALE HOSE FITTING #12 JIC MALE HOSE FITTING	20	\$17.84 \$65.16	\$35.68 \$1,303.20	\$13.72 \$50.12	\$27.45 \$1,002.46
4725-12-10	#14 JIC MALE HOSE FITTING	7	\$54.71	\$382.97	\$42.08	\$294.59
4725-14-12	#16 JIC MALE HOSE FITTING	4	\$47.16	\$188.64	\$36.28	\$145.11
4725-16-12	#16 JIC MALE HOSE FITTING	6	\$57.94	\$347.64	\$44.57	\$267.42
4725-20	#20 JIC MALE HOSE FITTING	1	\$76.35	\$76.35	\$58.73	\$58.73
4725-24	#24 JIC MALE HOSE FITTING	2	\$62.56	\$125.12	\$48.12	\$96.25
4744-8	#8 FLANGE HOSE FITTING	1	\$43.32	\$43.32	\$33.32	\$33.32
4744-12 4744-12-8	#12 FLANGE HOSE FITTING #12 FLANGE HOSE FITTING	39 3	\$82.21 \$28.77	\$3,206.19 \$86.31	\$63.24 \$22.13	\$2,466.30 \$66.39
-11 77-14-0	"12 I EARGE HOOE I II IIIING	J	Ψ20.11	ψ00.31	ΨΖΖ.13	ψ00.03

Replacement				llmit	Total		Total
### 4744-16 ## 16 ##				Unit Replacement	Total Replacement	Unit Replacement	Total Replacement
## 4744-0-12 ## 16 FLANGE HOSE FITTING 3 \$33408 \$19104 \$497-00 \$357-00 \$357-00 \$497-00		•					Cost (USD)
### 474-02 ### ### ### ### ### ### ### ### ### #							\$67.31
### 4744-24 #24 FLANGE HOSE FITTING							
## 474-42-00 ## 5F FLANGE HOSE FITTING ## 388-97 \$347-88 \$89.90 \$267-50 \$150.30 ## 4745-12 ## 12 FLANGE 46 HOSE FITTING ## 8 \$53.31 \$402-46 ## \$41.01 \$322.00 \$4745-12 ## 12 FLANGE 46 HOSE FITTING ## 8 \$53.31 \$402-46 ## \$41.01 \$322.00 \$4745-12 ## 12 FLANGE 46 HOSE FITTING ## 8 \$14.01 \$322.00 \$4745-12 ## 12 FLANGE 46 HOSE FITTING ## 8 \$18.01 \$374.00 \$4745-12 ## 10 FLANGE 46 HOSE FITTING ## 8 \$11.01 \$322.00 \$4745-12 ## 10 FLANGE 46 HOSE FITTING ## 8 \$11.01 \$322.00 \$4745-12 ## 10 FLANGE 46 HOSE FITTING ## 10 FLANGE 46 HOSE FITTING ## 10 \$70.00 \$70.00 \$54.54 \$4745-12 ## 10 FLANGE 46 HOSE FITTING ## 10 \$70.00 \$70.00 \$54.54 \$4745-12 ## 10 FLANGE 46 HOSE FITTING ## 10 \$70.00 \$70.00 \$54.54 \$4755-12 ## 10 FLANGE 46 HOSE FITTING ## 10 \$10.00 \$70.00 \$54.54 \$4755-12 ## 10 FLANGE 46 HOSE FITTING ## 10 \$10.00 \$70.00 \$54.54 \$4755-12 ## 10 FLANGE 46 HOSE FITTING ## 10 \$10.00 \$70.00 \$54.54 \$4755-12 ## 10 FLANGE 40 HOSE FITTING ## 10 \$10.00 \$10.							
### 4745-12 ### 12 FLANGE 46 HOSE FITTING 8 \$ \$53.31 \$20.00 \$9.2.10 \$169.30 \$4745-12-8 ### 12 FLANGE 46 HOSE FITTING 8 \$ \$53.31 \$20.00 \$40.00							\$267.60
#474-12-8 #12 FLANCE 46 HOSE FITTING 8 \$ \$8.48 \$97.4 \$9.52 \$92.18 #4745-16-12 #16 FLANCE 46 HOSE FITTING 8 \$ \$118.61 \$948.68 \$91.24 \$725-91 \$4745-16-12 #16 FLANCE 46 HOSE FITTING 2 \$ \$10.88 \$ \$91.24 \$725-91 \$4745-16-12 #16 FLANCE 46 HOSE FITTING 1 1 \$70.90 \$770.00 \$54.54 \$94.54 \$725-91 \$4745-16-10 #10 FLANCE 46 HOSE FITTING 1 1 \$70.90 \$770.00 \$54.54 \$94.54 \$4745-16-10 #10 FLANCE 46 HOSE FITTING 1 1 \$70.90 \$770.00 \$54.54 \$94.54 \$4745-16-10 #10 FLANCE 46 HOSE FITTING 1 1 \$70.90 \$770.00 \$54.54 \$94.54 \$4764-12 #12 FLANCE 60 HOSE FITTING 1 1 \$12.28 \$70.50 \$145.52 \$112.75 \$	4745-8						\$156.30
4745-16-1 #16 FLANGE 45 HOSE FITTING 5 \$77.261 \$383.05 \$58.56 \$77.27 4745-16-12 #16 FLANGE 45 HOSE FITTING 2 \$103.85 \$207.70 \$73.88 \$109.77 4745-16-120 #16 FLANGE 45 HOSE FITTING 2 \$103.85 \$207.70 \$73.88 \$109.77 4745-20-16 #16 FLANGE 45 HOSE FITTING 1 \$70.90 \$70.00 \$7	4745-12	#12 FLANGE 45 HOSE FITTING		\$53.31	\$426.48	\$41.01	\$328.06
4745-16-12 #16 FLANGE 45 HOSE FITTING 2 2 \$103.85 \$207.70 \$77.08 \$159.77 \$4745-20-18 #16 FLANGE 46 HOSE FITTING 1 1 \$70.90 \$70.00 \$54.54 \$45.54 \$4745-20-18 #10 FLANGE 46 HOSE FITTING 1 1 \$70.90 \$70.00 \$54.54 \$45.54 \$4745-24-20 #24 FLANGE 46 HOSE FITTING 1 1 \$71.06.52 \$70.00 \$54.54 \$45.54 \$4745-24-20 #24 FLANGE 46 HOSE FITTING 2 2 \$35.46 \$70.00 \$54.54 \$56.54 \$7476-24-20 #24 FLANGE 46 HOSE FITTING 2 2 \$35.46 \$70.00 \$51.35 \$56.15 \$70.00 \$54.54 \$70.00 \$54.54 \$70.00 \$70.00 \$54.54 \$70.00 \$70.0							\$52.18
#445-8-0 #16 FLANGE 46 HOSE FITTING 1 \$70.0 \$70.							
4745-20-16 #20 FLANGE 45 HOSE FITTING 1 \$140.50 \$10.00 \$54.4 \$34.45 \$14.45 \$2.41 \$4.45 \$2.42 \$2.42 \$24 FLANGE 45 HOSE FITTING 1 \$146.50 \$140.50 \$15.00 \$15.25 \$15.27 \$151.27 \$151.27 \$14.45 \$2.42 \$2.40 #24 FLANGE 45 HOSE FITTING 2 \$35.40 \$70.60 \$19.38 \$38.51 \$2.47 \$2.22 \$35.40 \$70.60 \$2.22 \$35.40 \$70.60 \$2.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.22 \$35.40 \$70.60 \$3.20 \$3.							
#445-24 #24 FLANGE 45 HOSE FITTING 1 \$146.52 \$146.52 \$112.71 \$112.71 \$112.71 \$147.45.24.20 #25.00 #25.00 #25.00 #25.00 #3							
#760-12 #12 FLANGE 60 HOSE FITTING 1 \$12.98 \$13.98 \$3.98 \$3.98 \$3.98 \$4760-20 #20 FLANGE 60 HOSE FITTING 3 \$3.21.5 \$506.45 \$24.73 \$74.19 \$2.00 #20 FLANGE 60 HOSE FITTING 3 \$3.21.5 \$506.45 \$24.73 \$74.19 \$2.00 #20 FLANGE 60 HOSE FITTING 3 \$12.19 \$3.83.73 \$3.93.3 \$3.93.73 \$3.93.3 \$3.29 \$74.760-24 #24 FLANGE 60 HOSE FITTING 12 \$70.6 \$3.60.66 \$3.102 \$42.00 \$476.00 #20 FLANGE 60 HOSE FITTING 12 \$70.6 \$3.60.66 \$3.102 \$42.00 \$4777.8 #8 FLANGE HOSE FITTING 14 \$5.57 \$77.99 \$42.20 \$3.00 \$3.40 \$42.00 \$4777.8 #8 FLANGE 60 HOSE FITTING 12 \$8.34 \$16.69 \$42.20 \$3.00 \$4770.8 #8 FLANGE 60 HOSE FITTING 7 \$357.60 \$40.56.50 \$44.56 \$3.12.00 \$4770.8 #8 FLANGE 60 HOSE FITTING 7 \$357.60 \$40.56.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 7 \$357.60 \$40.56.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 7 \$357.60 \$40.56.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 7 \$359.8 \$40.50.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 7 \$359.8 \$40.50.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 7 \$350.8 \$40.50.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 7 \$350.8 \$35.50 \$40.50.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 7 \$350.8 \$350.8 \$40.50.50 \$44.56 \$3.12.00 \$4700.8 #8 FLANGE 60 HOSE FITTING 2 \$38.8 \$500.15 \$32.8 \$40.50 \$4700.8 \$47							
4760-10 #16 FLANGE 60 HOSE FITTING 3 \$32.15 \$96.1 \$9.98 \$9.98 \$9.98 \$9.98 \$74.19 \$760-20-16 #20 FLANGE 60 HOSE FITTING 3 \$12.91 \$38.73 \$9.93 \$22.79 \$74.19 \$760-20-16 #20 FLANGE 60 HOSE FITTING 2 \$40.33 \$80.66 \$31.02 \$62.05 \$47.58-8 #26 FLANGE 60 HOSE FITTING 12 \$7.05 \$84.00 \$51.02 \$62.05 \$47.58-8 #6 FLANGE 60 HOSE FITTING 12 \$7.05 \$84.00 \$51.02 \$62.05 \$47.78-8 #6 FLANGE 64 HOSE FITTING 14 \$5.57 \$77.98 \$42.8 \$65.00 \$47.77-20-16 #20 FLANGE 64 HOSE FITTING 2 \$83.4 \$11.68 \$64.2 \$12.83 \$9.99 \$47.77-20-16 #20 FLANGE 64 HOSE FITTING 7 \$57.95 \$46.65 \$44.56 \$12.80 \$790-8-1 \$12 FLANGE 69 HOSE FITTING 7 \$57.95 \$46.65 \$44.56 \$12.80 \$790-12-2 #12 FLANGE 69 HOSE FITTING 7 \$20.00 \$7.00 \$1.0	4745-24-20	#24 FLANGE 45 HOSE FITTING	3	\$25.20	\$75.60	\$19.38	\$58.15
#760-20 #20 FLANGE 60 HOSE FITTING							\$54.58
4769-20-16 #20 FLANGE 60 HOSE FITTING 2 340.33 \$80.6 \$31.02 \$62.05 \$62.0							
4760-24 #24 FLANGE 60 HOSE FITTING 2 \$4.03 \$80.66 \$51.02 \$82.05 \$4777-8 #8 FLANGE 45 HOSE FITTING 12 \$7.05 \$84.60 \$54.2 \$85.00 \$4777-8 #8 FLANGE 45 HOSE FITTING 14 \$5.57 \$77.99 \$4.28 \$85.90 \$4777-8 \$77.90 #8 FLANGE 45 HOSE FITTING 2 \$83.4 \$16.68 \$64.2 \$12.83 \$4790-8 #8 FLANGE 90 HOSE FITTING 6 \$57.95 \$405.65 \$44.58 \$312.04 \$4790-12 #12 FLANGE 90 HOSE FITTING 6 \$1.25 \$405.65 \$44.58 \$312.04 \$4790-12-8 #12 FLANGE 90 HOSE FITTING 7 \$29.88 \$209.16 \$22.90 \$160.89 \$4790-12-8 #12 FLANGE 90 HOSE FITTING 7 \$29.88 \$209.16 \$22.90 \$160.89 \$4790-16-20 #16 FLANGE 90 HOSE FITTING 7 \$29.88 \$209.16 \$22.90 \$160.89 \$4790-16-20 #16 FLANGE 90 HOSE FITTING 2 \$83.65 \$167.30 \$64.35 \$128.00 \$4790-16-20 #16 FLANGE 90 HOSE FITTING 2 \$14.00 \$40.00 \$4790-16-20 #16 FLANGE 90 HOSE FITTING 2 \$14.00 \$40.00 \$4790-16-20 #16 FLANGE 90 HOSE FITTING 2 \$14.00 \$40.00 \$4790-16-20 #16 FLANGE 90 HOSE FITTING 2 \$14.00 \$40.00 \$4790-16-20 #16 FLANGE 90 HOSE FITTING 2 \$10.00 \$22.40 \$13.00 \$22.90 #13.00 \$20.00 #13.00 \$10.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 #13.00 \$20.00 \$110.00 \$20.00 \$110.00 \$20.00 \$110.00 \$20.00 \$110.00 \$20.00 \$10.00 \$20.00 \$110.00 \$20.00 \$110.00 \$20.00 \$20.00 \$20.00							
#777-80 #8 FLANGE HOSE FITTING 12 \$7.05 \$84.60 \$5.42 \$859.08 \$4777-20-16 #20 FLANGE 54 HOSE FITTING 14 \$5.57 \$7.798 \$4.26 \$859.08 \$4777-20-16 #20 FLANGE 54 HOSE FITTING 2 \$8.34 \$16.86 \$6.42 \$12.83 \$4790-12 #12 FLANGE 94 HOSE FITTING 7 \$5.75 \$405.65 \$44.58 \$312.04 \$4790-12 #12 FLANGE 94 HOSE FITTING 6 \$128.04 \$768.24 \$88.49 \$890.05 \$4790-12 #12 FLANGE 94 HOSE FITTING 7 \$2.88 \$2.98 \$80.06 \$2.29 \$140.00 \$4790-16-12 #16 FLANGE 94 HOSE FITTING 14 \$60.32 \$844.48 \$46.40 \$864.96 \$4790-16-12 #16 FLANGE 94 HOSE FITTING 2 \$13.46 \$8.36 \$12.80 \$4790-16-12 #16 FLANGE 94 HOSE FITTING 2 \$13.46 \$8.289.38 \$111.29 \$222.56 \$4790-16-12 #16 FLANGE 94 HOSE FITTING 2 \$13.46 \$8.289.38 \$111.29 \$222.56 \$4790-32-4 #24 FLANGE 94 HOSE FITTING 3 \$3.83.61 \$115.53 \$29.60 \$222.56 \$100.55-4 \$18.9 \$ELF SEAL MALE HALF 1 \$23.78 \$23.78 \$18.29 \$18.29 \$100.55-7 \$14 \$8 ELF SEAL FEMALE HALF 1 \$23.78 \$3.50.21 \$150.63 \$3.86 \$115.57 \$100.55-7 \$14 \$8 ELF SEAL PERMALE HALF 3 \$3.70 \$150.80 \$2.90 \$116.00 \$100.56-4 #18 \$10.00 HOSE FITTING 4 \$23.78 \$3.14.1 \$157.05 \$24.16 \$120.281 \$100.56-3 \$14.9 \$12.7 \$100.57-7 \$14 \$8 ELF SEAL DUST PLUG 5 \$3.14.1 \$157.05 \$24.16 \$120.281 \$100.56-3 \$14.9 \$12.7 \$100.56-5 \$1.40 \$100.56-1 #10 \$100.00 HOSE FITTING 4 \$23.78 \$30.26 \$20.00 \$32.20 \$116.00 \$100.56-3 \$10.00 HOSE FITTING 5 \$3.50.00 \$30.00 \$3.70 \$3.70 \$150.80 \$3.90 \$3.70 \$150.80 \$3.90 \$3.70 \$150.80 \$3.90 \$3.70							
4777-8 #5 FLANGE 45 HOSE FITTING 14 \$5.57 \$77.98 \$4.28 \$59.98 4779-0-8 #5 FLANGE 90 HOSE FITTING 7 \$57.95 \$405.68 \$44.88 \$312.04 4790-12 #12 FLANGE 90 HOSE FITTING 7 \$59.98 \$44.05 \$84.88 \$309.09 4790-12-8 #12 FLANGE 90 HOSE FITTING 7 \$29.88 \$209.16 \$22.98 \$160.88 4790-16-12 #16 FLANGE 90 HOSE FITTING 1 \$36.02 \$38.36 \$11.72 \$22.88 \$31.12 \$22.88 \$30.44 \$46.40 \$34.94 4790-24 #16 FLANGE 90 HOSE FITTING 2 \$38.36 \$11.55 \$29.62 \$38.85 \$16.75 \$29.88 \$700.52 #32 FLANGE 90 HOSE FITTING 3 \$38.51 \$15.55 \$29.62 \$38.85 \$11.55 \$29.62 \$38.85 \$11.55 \$38.86 \$115.85 \$29.62 \$38.85 \$10.55 \$12.61 \$12.62 \$16.62 \$10.55 \$18.85 \$29.62 \$38.86 \$115.85 \$10.55 \$10.55 \$18.82							
4790-18 #8 FLANGE 90 HOSE FITTING 6 \$ \$122.04 \$ \$20.94 \$ \$302.04 \$4790-12-8 #12 FLANGE 90 HOSE FITTING 7 \$29.88 \$20.91 fc \$22.98 \$100.89 \$4790-12-8 #12 FLANGE 90 HOSE FITTING 7 \$29.88 \$20.91 fc \$22.98 \$100.89 \$4790-12-8 #19 FLANGE 90 HOSE FITTING 14 \$80.32 \$134.68 \$10.91 fc \$22.98 \$100.89 \$4790-12-20 #19 FLANGE 90 HOSE FITTING 2 \$134.68 \$167.30 \$64.35 \$128.69 \$4790-32-20 #32 FLANGE 90 HOSE FITTING 2 \$134.68 \$167.30 \$64.35 \$128.69 \$4790-32-20 #32 FLANGE 90 HOSE FITTING 3 \$38.85 \$1515.33 \$29.92 \$88.87 \$100.85-24 \$18 \$ELEF SEAL MALE HALF 1 \$23.78 \$25.78 \$150.83 \$38.62 \$115.53 \$29.92 \$88.87 \$100.85-24 \$18 \$ELEF SEAL MALE HALF 3 \$3.50.21 \$150.80 \$29.00 \$116.80 \$100.85-95 \$14 \$ELEF SEAL DUST PLUG 5 \$31.41 \$157.05 \$24.16 \$120.85 \$100.85-95 \$14 \$ELEF SEAL DUST PLUG 5 \$31.41 \$157.05 \$24.16 \$120.85 \$100.83-26 \$40.10 \$100.89-95 \$14 \$ELEF SEAL DUST PLUG 5 \$31.41 \$157.05 \$24.16 \$120.85 \$100.83-26 \$40.10 \$100.89-95 \$14 \$ELEF SEAL DUST PLUG 5 \$31.41 \$157.05 \$24.16 \$120.85 \$100.83-26 \$40.10 \$100.89-95 \$14 \$10.10 \$100.85 \$1							\$59.98
4790-12 #12 FLANGE 90 HOSE FITTING 7 \$29.88 \$19.16 \$22.88 \$10.98 \$4790-16-12 #16 FLANGE 90 HOSE FITTING 14 \$60.32 \$84.48 \$46.40 \$84.98 \$4790-16-12 #16 FLANGE 90 HOSE FITTING 2 \$83.65 \$167.30 \$84.55 \$167.30 \$11.55 \$157.50 \$11.55 \$157.50 \$11.55 \$157.50 \$18.55 \$11.55 \$157.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.55 \$167.50 \$18.50 \$167.50	4777-20-16	#20 FLANGE 45 HOSE FITTING	2	\$8.34	\$16.68	\$6.42	\$12.83
4790-12-8 #12 FLANGE 90 HOSE FITTING 7 \$29.88 \$20.91 6 \$22.98 \$160.80 4790-16-20 #18 FLANGE 90 HOSE FITTING 2 \$38.36 \$167.30 \$64.35 \$128.60 4790-24 #24 FLANGE 90 HOSE FITTING 2 \$144.86 \$29.93 \$111.29 \$22.84 4790-32-20 #32 FLANGE 90 HOSE FITTING 3 \$38.51 \$115.53 \$29.92 \$88.87 5100-82-4 1/8 SELF SEAL SEAL FEMALE HALF 3 \$35.01 \$150.83 \$38.62 \$115.87 5100-85-4 1/8 SELF SEAL DUST CAP 4 \$37.70 \$150.80 \$29.00 \$116.80 5100-87-5 1/4 SELF SEAL DUST CAP 4 \$37.70 \$150.80 \$29.00 \$116.80 5100-88-5 1/4 SELF SEAL DUST CHUG 5 \$31.41 \$157.05 \$32.16 \$132.08 19028-4 #10 JEO HOSE FITTING 4 \$22.37 \$96.12 \$10.29 \$116.20 \$16.60 \$10.20 \$116.20 \$116.20 \$16.20 \$10.20 \$116.20 \$16.20		#8 FLANGE 90 HOSE FITTING					\$312.04
4790-16-12 #16 FLANGE 90 HOSE FITTING 14 \$60.32 \$844.48 \$46.0 \$60.49 \$1720-16-12 #16 FLANGE 90 HOSE FITTING 2 \$18.56 \$167.30 \$64.35 \$128.68 \$1720-16-12 #1720-16-1							\$590.95
4790-16-20 #16 FLANGE 90 HOSE FITTING 2 \$134.68 \$167.30 \$84.35 \$132.89 \$1790-22-20 #32 FLANGE 90 HOSE FITTING 3 \$38.51 \$115.53 \$2.98 62 \$88.87 \$100.82-4 \$18 \$SELF SEAL MALE HALF 1 \$22.78 \$23.58 \$18.29 \$18.29 \$100.82-4 \$18 \$SELF SEAL MALE HALF 1 \$22.78 \$23.58 \$18.29 \$18.29 \$18.29 \$100.85-5 \$18 \$18.29 \$18.20 \$100.85-5 \$18 \$18.29 \$18.20 \$100.85-5 \$18 \$18.29 \$18.20 \$100.85-5 \$18 \$18.29 \$18.20 \$100.85-5 \$18 \$18.29 \$18.20 \$100.85-5 \$18 \$18.20 \$100.85-5 \$18 \$18.20 \$100.85-5 \$18 \$18.20 \$100.85-5 \$18 \$18.20 \$116.00 \$100.89-5 \$110.89-5							
4790-24 #24 FLANGE 90 HOSE FITTING 2 \$144.68 \$289.36 \$111.29 \$222.26 \$1409-32.20 #32 FLANGE 90 HOSE FITTING 3 \$3.35.15 \$115.53 \$29.62 \$88.87 \$100.95.4 \$18 SELF SEAL MALE HALF 1 \$22.78 \$1510.55 \$150.85 \$3.18 \$115.53 \$3.86.21 \$150.83 \$38.62 \$115.87 \$100.95.4 \$18 SELF SEAL FEMALE HALF 3 \$3.50.21 \$150.83 \$38.62 \$115.87 \$100.95.5 \$14 SELF SEAL FEMALE HALF 5 \$3.31.41 \$157.05 \$23.16 \$130.85 \$100.95.5 \$14 SELF SEAL DUST PLUG 5 \$331.41 \$157.05 \$23.16 \$120.85 \$100.85.5 \$14 SELF SEAL DUST PLUG 5 \$331.41 \$157.05 \$23.16 \$120.85 \$100.85.5 \$41.58 \$100.85 \$100.85 \$1.60 \$100.85 \$1.60 \$100.85 \$1.60 \$100.85 \$1.60 \$100.85 \$1.60 \$100.85 \$1.60 \$100.85 \$1.60 \$1.60 \$100.85 \$1.60 \$1							
4790-22-20 #32 FLANGE 90 HOSE FITTING 3 \$38.51 \$115.53 \$29.62 \$88.87 \$100-52-4 1/8 SELF SEAL MUST CAP 1 \$23.78 \$23.78 \$18.29 \$18.29 \$18.29 \$100-55-4 1/8 SELF SEAL MUST CAP 4 \$37.70 \$150.80 \$38.62 \$115.87 \$100-57-5 1/4 SELF SEAL DUST CAP 4 \$37.70 \$150.80 \$38.62 \$115.87 \$100-57-5 1/4 SELF SEAL DUST CAP 4 \$37.70 \$150.80 \$29.00 \$116.00 \$100-59-5 1/4 SELF SEAL DUST CAP 4 \$4 \$37.70 \$150.80 \$29.00 \$116.00 \$100-59-5 1/4 SELF SEAL DUST PLUG 5 \$31.41 \$157.05 \$24.16 \$120.81 \$190:605-4 #J.IC 90 HOSE FITTING 4 \$23.78 \$95.12 \$18.29 \$73.17 \$190:605-4 #J.IC 90 HOSE FITTING 8 \$30.26 \$242.08 \$23.28 \$18.62 \$190:605-8-6 #J.IC 90 HOSE FITTING 24 \$22.94 \$50.50 \$6 \$242.08 \$23.28 \$18.62 \$190:605-8-6 #J.IC 90 HOSE FITTING 10 \$76.52 \$765.20 \$58.86 \$588.65 \$190:60-6 #J.IC 90 HOSE FITTING 10 \$76.52 \$765.20 \$58.86 \$588.65 \$190:60-6 #J.IC 90 HOSE FITTING 10 \$76.52 \$765.20 \$58.86 \$588.65 \$190:60-6 #J.IC 90 HOSE FITTING 10 \$76.52 \$765.20 \$58.86 \$588.65 \$190:60-6 #J.IC 90 HOSE FITTING 10 \$32.24 \$612.66 \$24.80 \$471.20 \$190:60-6-6 #J.IC 90 HOSE FITTING 19 \$32.24 \$612.66 \$24.80 \$471.20 \$190:60-6-6 #J.IC 90 HOSE FITTING 19 \$32.24 \$612.66 \$24.80 \$471.20 \$190:60-6-6 #J.IC 90 HOSE FITTING 19 \$32.24 \$612.66 \$24.80 \$471.20 \$190:60-6-6 #J.IC 90 HOSE FITTING 19 \$32.24 \$612.66 \$24.80 \$471.20 \$190:60-6-6 #J.IC 90 HOSE FITTING 20 \$25.64 #J.IC 90.00 #J							
5100.52-4 1/8 SELF SEAL MALE HALF 1 \$23.78 \$23.78 \$18.29 \$18.29 \$100.55-6 1/8 SELF SEAL FEMALE HALF 3 \$500.21 \$150.63 \$36.62 \$115.67 \$100.57-5 1/4 SELF SEAL DUST CAP 4 \$37.70 \$150.80 \$29.00 \$116.00 \$100.59-5 1/4 SELF SEAL DUST PLUG 5 \$31.41 \$157.05 \$24.61 \$120.81 \$190.263-4 #4 JIC 90 HOSE FITTING 8 \$30.28 \$242.08 \$29.00 \$216.00 \$100.59-5 \$14.52 \$120.81 \$190.263-4 #4 JIC 90 HOSE FITTING 8 \$30.28 \$242.08 \$23.28 \$18.29 \$73.17 \$190.263-6 #5 JIC 90 HOSE FITTING 10 \$76.52 \$765.20 \$23.28 \$186.22 \$190.263-16 #5 JIC 90 HOSE FITTING 10 \$76.52 \$765.20 \$508.66 \$23.28 \$11.490.60 \$190.264-6 #5 JIC 90 HOSE FITTING 19 \$32.24 \$50.56 \$17.65 \$243.01 \$190.264-16 #6 JIC 90 HOSE FITTING 19 \$32.24 \$50.56 \$24.80 \$247.00							
5100-57-5							\$18.29
5100-S9-5 14 SELF SEAL DUST PLUG 5 \$31.41 \$157.05 \$24.16 \$12.81 190283-4 #4 JIC 90 HOSE FITTING 4 \$23.78 \$95.12 \$18.29 \$73.17 190283-6 #6 JIC 90 HOSE FITTING 8 \$30.26 \$242.08 \$23.28 \$168.22 190263-6 #6 JIC 90 HOSE FITTING 24 \$22.94 \$550.56 \$17.65 \$423.51 190264-6 #16 JIC 90 HOSE FITTING 10 \$76.52 \$765.22 \$56.20 \$8.86 \$88.22 190264-6 #8 JIC 90 HOSE FITTING 19 \$32.24 \$51.56 \$48.0 \$41.40.00 190264-16 #16 JIC 90 HOSE FITTING 5 \$57.97 \$289.85 \$44.59 \$222.96 190287-8-8 #8 JIC 45 HOSE FITTING 2 \$26.41 \$52.82 \$20.22 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.43 \$41.40 \$41.50 \$40.20 \$40.20 \$40.20	5100-S5-4	1/8 SELF SEAL FEMALE HALF	3	\$50.21	\$150.63	\$38.62	\$115.87
190263-4							\$116.00
990283-6							
990283-8-6							
99028-16							
900264-6							
190264-16							\$1,148.05
990287-8-6	190264-8-6	#8 JIC 90 HOSE FITTING	19	\$32.24	\$612.56	\$24.80	\$471.20
190295-10-12							\$222.96
190773-20							
504095-5 #5 JIC M X F 90 ELBOW 25 \$17.99 \$449.75 \$13.84 \$345.96 FT1243-100-4 POLYON DIE SET - SIZE 4 1 \$331.43 \$331.43 \$254.95 \$254.95 FT1243-150-5 POLYON FITTING PUSHER 1 \$213.48 \$213.48 \$164.22 \$164.92 FT1243-250-11 POLYON FITTING PUSHER 1 \$240.46 \$240.46 \$184.97 \$184.97 FT1243-250-12 POLYON FITTING PUSHER 1 \$240.46 \$240.46 \$184.97 \$184.97 FT1243-250-12 POLYON FITTING PUSHER 1 \$181.50 \$139.62							
FT1243-100-4 POLYON DIE SET - SIZE 4 1 1 \$331.43 \$331.43 \$254.95 \$254.95 FT1243-150-5 POLYON FITTING PUSHER 1 \$213.48 \$213.48 \$164.22							
FT1243-150-5 POLYON FITTING PUSHER 1 \$213.48 \$213.48 \$164.22 \$164.22 FT1243-250-12 POLYON FITTING PUSHER 1 \$240.46 \$240.46 \$184.97 \$184.97 FT1243-250-12 POLYON FITTING PUSHER 1 \$181.50 \$131.50 \$139.62 \$139.62 FT1330-200-51 AEROQUIP BARREL CRIMP DIE 3 \$58.47 \$175.41 \$44.98 \$134.93 CNA220-1-12-8 3/4 NPT MALE HOSE NIPPLE 2 \$3.08 \$6.16 \$2.37 \$4.74 FC2540-32 -32 4 WIRE CRIMP SOCKET 11 \$39.92 \$439.12 \$30.71 \$337.78 FC3471-6 -6 CRIMP SOCKET FOR FC136 10 \$3.45 \$34.50 \$2.65 \$26.54 FC3471-10 -10 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC3471-16 -16 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC4014-16-16 -10 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
FT1243-250-12 POLYON FITTING PUSHER 1 \$181.50 \$181.50 \$139.62 \$139.62 FT1330-200-51 AEROQUIP BARREL CRIMP DIE 3 \$58.47 \$175.41 \$44.98 \$134.93	FT1243-150-5	POLYON FITTING PUSHER	1				\$164.22
FT1330-200-51 AEROQUIP BARREL CRIMP DIE 3 \$58.47 \$175.41 \$44.98 \$134.93 CNA220-1-12-8 3/4 NPT MALE HOSE NIPPLE 2 \$3.08 \$6.16 \$2.37 \$4.74 FC2540-32 -32 4 WIRE CRIMP SOCKET 11 \$39.92 \$439.12 \$30.71 \$337.78 FC3471-6 -6 CRIMP SOCKET FOR FC136 10 \$2.59 \$25.90 \$1.99 \$19.92 FC3471-8 -8 CRIMP SOCKET FOR FC136 10 \$3.45 \$34.50 \$2.65 \$26.54 FC3471-10 -10 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC3471-12 -12 CRIMP SOCKET FOR FC136 10 \$11.51 \$115.10 \$8.85 \$88.54 FC3471-16 -16 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 FC4049-12-12 -12 FLANGE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17	FT1243-250-11	POLYON FITTING PUSHER	1	\$240.46	\$240.46	\$184.97	\$184.97
CNA220-1-12-8 3/4 NPT MALE HOSE NIPPLE 2 \$3.08 \$6.16 \$2.37 \$4.74 FC2540-32 -32 4 WIRE CRIMP SOCKET 11 \$39.92 \$439.12 \$30.71 \$337.78 FC3471-6 -6 CRIMP SOCKET FOR FC136 10 \$2.59 \$25.90 \$1.99 \$19.92 FC3471-8 -8 CRIMP SOCKET FOR FC136 10 \$3.45 \$34.50 \$2.65 \$2.65 FC3471-10 -10 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC3471-12 -12 CRIMP SOCKET FOR FC136 10 \$11.51 \$115.10 \$8.85 \$88.54 FC3471-16 -16 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 FC4041-16-16 -16 JIC FEMALE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 \$11.12 \$11.12 \$11.75 \$45.50 \$17.50 \$35.00 \$17.615 \$17.615 \$16.02 \$2.02 \$2.02 \$2.02 \$1.02 \$2.02 \$2.02 \$2.02 \$2.02 \$2.02 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$139.62</td>							\$139.62
FC2540-32 -32 4 WIRE CRIMP SOCKET 11 \$39.92 \$439.12 \$30.71 \$337.78 FC3471-6 -6 CRIMP SOCKET FOR FC136 10 \$2.59 \$25.90 \$1.99 \$19.92 FC3471-8 -8 CRIMP SOCKET FOR FC136 10 \$3.45 \$34.50 \$2.65 \$26.54 FC3471-10 -10 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC3471-12 -12 CRIMP SOCKET FOR FC136 10 \$11.51 \$115.10 \$8.85 \$88.54 FC3471-16 -16 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 FC4014-16-16 -16 JIC FEMALE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 FC4049-12-12 -12 FLANGE CRIMP STEM 2 \$22.75 \$45.50 \$17.50 \$35.00 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$22.11 \$1,157.17 FC4049-20-20 -20 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90							
FC3471-6 -6 CRIMP SOCKET FOR FC136 10 \$2.59 \$25.90 \$1.99 \$19.92 FC3471-8 -8 CRIMP SOCKET FOR FC136 10 \$3.45 \$34.50 \$2.65 \$26.54 FC3471-10 -10 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC3471-12 -12 CRIMP SOCKET FOR FC136 10 \$11.51 \$115.10 \$8.85 \$88.54 FC3471-16 -16 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 FC4014-16-16 -16 JIC FEMALE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 FC4049-12-12 -12 FLANGE CRIMP STEM 2 \$22.75 \$45.50 \$17.50 \$35.00 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$17.71.7 FC4049-32-32 -32 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90 FC4050-20-20 -20 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69							
FC3471-8 -8 CRIMP SOCKET FOR FC136 10 \$3.45 \$34.50 \$2.65 \$26.54 FC3471-10 -10 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC3471-12 -12 CRIMP SOCKET FOR FC136 10 \$11.51 \$115.10 \$8.85 \$88.54 FC3471-16 -16 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 FC4014-16-16 -16 JIC FEMALE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 FC4049-12-12 -12 FLANGE CRIMP STEM 2 \$22.75 \$45.50 \$17.50 \$35.00 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17 FC4049-24-24 -24 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90 FC4050-20-20 -20 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-22-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
FC3471-10 -10 CRIMP SOCKET FOR FC136 9 \$4.71 \$42.39 \$3.62 \$32.61 FC3471-12 -12 CRIMP SOCKET FOR FC136 10 \$11.51 \$115.10 \$8.85 \$88.54 FC3471-16 -16 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 FC4014-16-16 -16 JIC FEMALE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 FC4049-12-12 -12 FLANGE CRIMP STEM 2 \$22.75 \$45.50 \$17.50 \$35.00 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17 FC4049-24-24 -24 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17 FC4049-32-32 -32 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-32-24 -32 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272							
FC3471-16 -16 CRIMP SOCKET FOR FC262 25 \$9.16 \$229.00 \$7.05 \$176.15 FC4014-16-16 -16 JIC FEMALE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 FC4049-12-12 -12 FLANGE CRIMP STEM 2 \$22.75 \$45.50 \$17.50 \$35.00 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17 FC4049-24-24 -24 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90 FC4049-23-32 -32 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,04.69 FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-32-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 FC4050-32-32 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$4	FC3471-10	-10 CRIMP SOCKET FOR FC136	9	\$4.71	\$42.39	\$3.62	\$32.61
FC4014-16-16 -16 JIC FEMALE CRIMP STEM 1 \$14.46 \$14.46 \$11.12 \$11.12 FC4049-12-12 -12 FLANGE CRIMP STEM 2 \$22.75 \$45.50 \$17.50 \$35.00 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17 FC4049-24-24 -24 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90 FC4049-32-32 -32 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-24-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 FC4050-32-32 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$437.31 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64	FC3471-12				\$115.10	\$8.85	\$88.54
FC4049-12-12 -12 FLANGE CRIMP STEM 2 \$22.75 \$45.50 \$17.50 \$35.00 FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17 FC4049-24-24 -24 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90 FC4049-32-32 -32 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-24-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 FC4050-32-24 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$437.31 FC4050-32-32 -32 FLANGE CRIMP STEM 1 \$96.97 \$96.97 \$74.59 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-22-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89							
FC4049-20-20 -20 FLANGE CRIMP STEM 48 \$31.34 \$1,504.32 \$24.11 \$1,157.17 FC4049-24-24 -24 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90 FC4049-32-32 -32 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-24-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 FC4050-32-24 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$437.31 FC4050-32-32 -32 FLANGE CRIMP STEM 1 \$96.97 \$96.97 \$74.59 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68							
FC4049-24-24 -24 FLANGE CRIMP STEM 11 \$37.57 \$413.27 \$28.90 \$317.90 FC4049-32-32 -32 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-24-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 FC4050-32-24 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$447.31 FC4050-32-32 -32 FLANGE CRIMP STEM 1 \$96.97 \$96.97 \$74.59 \$74.59 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$266.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14							
FC4049-32-32 -32 FLANGE CRIMP STEM 15 \$95.74 \$1,436.10 \$73.65 \$1,104.69 FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-24-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 FC4050-32-24 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$437.31 FC4050-32-32 -32 FLANGE CRIMP STEM 1 \$96.97 \$96.97 \$74.59 \$74.59 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28							
FC4050-20-20 -20 FLANGE CRIMP STEM 2 \$30.44 \$60.88 \$23.42 \$46.83 FC4050-24-24 -24 FLANGE CRIMP STEM 9 \$39.38 \$354.42 \$30.29 \$272.63 FC4050-32-24 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$437.31 FC4050-32-32 -32 FLANGE CRIMP STEM 1 \$96.97 \$96.97 \$74.59 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57							\$1,104.69
FC4050-32-24 -32 FLANGE CRIMP STEM 10 \$56.85 \$568.50 \$43.73 \$437.31 FC4050-32-32 -32 FLANGE CRIMP STEM 1 \$96.97 \$96.97 \$74.59 \$74.59 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57	FC4050-20-20	-20 FLANGE CRIMP STEM		\$30.44	\$60.88	\$23.42	\$46.83
FC4050-32-32 -32 FLANGE CRIMP STEM 1 \$96.97 \$96.97 \$74.59 \$74.59 FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57							\$272.63
FC4051-20-20 -20 FLANGE 45 CRIMP STEM 45 \$46.33 \$2,084.85 \$35.64 \$1,603.73 FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57							
FC4051-24-24 -24 FLANGE 45 CRIMP STEM 6 \$57.61 \$345.66 \$44.32 \$265.89 FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57							
FC4051-32-32 -32 FLANGE 45 CRIMP STEM 18 \$112.86 \$2,031.48 \$86.82 \$1,562.68 FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57							
FC4052-24-24 -24 FLANGE 45 CRIMP STEM 9 \$57.38 \$516.42 \$44.14 \$397.25 FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57							
FC4053-20-16 -20 FLANGE 90 CRIMP STEM 2 \$28.97 \$57.94 \$22.28 \$44.57							\$397.25
FOUNDS ON ON ELANOF ON ORIND OTEM							\$44.57
	FC4053-20-20	-20 FLANGE 90 CRIMP STEM	12	\$42.58	\$510.96	\$32.75	\$393.05
							\$283.34
							\$1,485.62 \$520.90
FC4054-24-24 -24 FLANGE 90 CRIMP STEM 13 \$52.09 \$677.17 \$40.07 \$520.90	1 04004-24-24	-24 I LANGE 30 ORIIVIE STEIVI	13	φ5∠.09	φυ//.1/	φ40.07	φυζυ.90

			Unit	Total		Total
			Replacement		Unit Replacement	Replacement
Item Number	Description	Qty	Cost (CAD)	Cost (CAD)	Cost (USD)	Cost (USD)
FC4054-32-24	-32 FLANGE 90 CRIMP STEM	6	\$83.29	\$499.74	\$64.07	\$384.42
FC4612-24-24	30 CODE 61 FLANGE FITTING -24 FLANGE CRIMP FITTING	2 1	\$140.69 \$63.60	\$281.38	\$108.22	\$216.45 \$48.92
FC5050-24-24 FC5050-32-24	-32 FLANGE CRIMP FITTING	4	\$96.09	\$63.60 \$384.36	\$48.92 \$73.92	\$48.92 \$295.66
FC5050-32-32	-32 FLANGE CRIMP FITTING	1	\$141.14	\$141.14	\$108.57	\$108.57
FC5052-24-24	-24 FLANGE 45 CRIMP FITTIN	5	\$71.36	\$356.80	\$54.89	\$274.46
FC5052-32-32	-32 FLANGE 45 CRIMP FITTIN	2	\$164.81	\$329.62	\$126.78	\$253.55
FC5054-24-24	-24 FLANGE 90 CRIMP FITTIN	23	\$58.86	\$1,353.78	\$45.28	\$1,041.37
FC5054-32-24 FC5321-12-12	-32 FLANGE 90 CRIMP FITTIN -12 JIC FEM CRIMP FITTING	7 7	\$81.74 \$16.67	\$572.18 \$116.69	\$62.88 \$12.82	\$440.14 \$89.76
FC5321-12-12 FC5321-16-16	-16 JIC FEM CRIMP FITTING	6	\$21.36	\$110.09	\$12.62 \$16.43	\$98.58
FC5321-20-20	-20 JIC FEM CRIMP FITTING	6	\$37.11	\$222.66	\$28.55	\$171.28
FC5321-24-24	-24 JIC FEM CRIMP FITTING	6	\$48.88	\$293.28	\$37.60	\$225.60
FC5322-16-16	1 NPT MALE CRIMP FITTING	8	\$42.87	\$342.96	\$32.98	\$263.82
FC5322-20-20	1-1/4 NPT MALE CRIMP FITT	4	\$56.57	\$226.28	\$43.52	\$174.06
FC5322-24-24	1-1/2 NPT MALE CRIMP FITT	1	\$88.18	\$88.18	\$67.83	\$67.83
FC5322-32-32 FC5325-12-12	2 NPT MALE CRIMP FITTING -12 FLANGE CRIMP FITTING	1 2	\$45.49 \$27.34	\$45.49 \$54.68	\$34.99 \$21.03	\$34.99 \$42.06
FC5325-12-12 FC5325-16-16	-16 FLANGE CRIMP FITTING	14	\$34.83	\$487.62	\$26.79	\$375.09
FC5325-20-20	-20 FLANGE CRIMP FITTING	6	\$44.31	\$265.86	\$34.08	\$204.51
FC5325-24-20	-24 FLANGE CRIMP FITTING	1	\$75.86	\$75.86	\$58.35	\$58.35
FC5325-24-24	-24 FLANGE CRIMP FITTING	10	\$60.22	\$602.20	\$46.32	\$463.23
FC5325-32-32	-32 FLANGE CRIMP FITTING	3	\$137.95	\$413.85	\$106.12	\$318.35
FC5327-12-12	-12 FLANGE 45 CRIMP FITTIN	4	\$32.83	\$131.32	\$25.25	\$101.02
FC5327-16-16	-16 FLANGE 45 CRIMP FITTIN	9	\$52.83	\$475.47	\$40.64	\$365.75
FC5327-20-20 FC5327-24-24	-20 FLANGE 45 CRIMP FITTIN -24 FLANGE 45 CRIMP FITT	2 4	\$57.80 \$79.37	\$115.60 \$317.48	\$44.46 \$61.05	\$88.92 \$244.22
FC5327-24-24 FC5327-32-32	-32 FLANGE 45 CRIMP FITTIN	1	\$157.52	\$17. 4 0 \$157.52	\$121.17	\$121.17
FC5329-12-12	-12 FLANGE 90 CRIMP FITTIN	1	\$35.42	\$35.42	\$27.25	\$27.25
FC5329-16-16	-16 FLANGE 90 CRIMP FITTIN	12	\$41.33	\$495.96	\$31.79	\$381.51
FC5329-20-20	-20 FLANGE 90 CRIMP FITTIN	1	\$54.29	\$54.29	\$41.76	\$41.76
FC5329-24-20	-24 FLANGE 90 CRIMP FITTIN	7	\$77.92	\$545.44	\$59.94	\$419.57
FC5329-24-24	-24 FLANGE 90 CRIMP FITTIN	9	\$77.74	\$699.66	\$59.80	\$538.20
FC5329-32-32	-32 FLANGE 90 CRIMP FITTIN	1 3	\$180.95	\$180.95	\$139.19	\$139.19
FC5503-16-16 FC5503-20-20	-16 JIC 90 CRIMP FITTING -20 JIC 90 CRIMP FITTING	3	\$48.31 \$67.35	\$144.93 \$202.05	\$37.16 \$51.81	\$111.48 \$155.42
FC5503-24-24	-24 JIC 90 CRIMP FITTING	2	\$126.05	\$202.03	\$96.96	\$193.92
FC5507-24-24	-24 FLANGE 22 1/2 FITTING	2	\$45.61	\$91.22	\$35.08	\$70.17
FC5513-24-24	-24 FLANGE 67 1/2 FITTING	3	\$34.66	\$103.98	\$26.66	\$79.98
FC5513-32-32	-32 FLANGE 67 1/2 FITTING	1	\$56.45	\$56.45	\$43.42	\$43.42
FC5560-12-12	-12 JIC 45 CRIMP FITTING	6	\$35.01	\$210.06	\$26.93	\$161.58
FC5560-16-16	-16 JIC 45 CRIMP FITTING	2	\$42.96	\$85.92	\$33.05	\$66.09
FC5560-20-20 FC5560-24-24	-20 JIC 45 CRIMP FITTING -24 JIC 45 CRIMP FITTING	1 1	\$43.66 \$47.22	\$43.66 \$47.22	\$33.58 \$36.32	\$33.58 \$36.32
FC5564-24-24	-24 JIC 90 CRIMP FITTING	1	\$35.71	\$35.71	\$30.32 \$27.47	\$27.47
FJ3251-6-6	#6 FJIC 90 LONG CRIMP FTTG	45	\$13.52	\$608.40	\$10.40	\$468.00
FJ9718-12-12	-12 ORS FEM CRIMP FITTING	1	\$20.94	\$20.94	\$16.11	\$16.11
FJ9718-16-16	-16 ORS FEM CRIMP FITTING	1	\$31.11	\$31.11	\$23.93	\$23.93
FJ9718-20-20	-20 ORS FEM CRIMP FITTING	2	\$54.21	\$108.42	\$41.70	\$83.40
FJ9718-24-24	-24 ORS FEM CRIMP FITTING	5	\$48.92	\$244.60	\$37.63	\$188.15
FJ9719-12-12	-12 ORS 45 CRIMP FITTING	5	\$18.07	\$90.35	\$13.90	\$69.50
FJ9719-16-16 FJ9719-20-20	-16 ORS 45 CRIMP FITTING -20 ORS 45 CRIMP FITTING	2 3	\$43.69 \$58.85	\$87.38 \$176.55	\$33.61 \$45.27	\$67.22 \$135.81
FJ9720-12-12	-12 ORS 90 CRIMP FITTING	8	\$36.60	\$292.80	\$28.15	\$225.23
FJ9720-20-20	-20 ORS 90 CRIMP FITTING	1	\$31.62	\$31.62	\$24.32	\$24.32
FJ9721-12-12	-12 ORS 90 CRIMP FITTING	4	\$49.54	\$198.16	\$38.11	\$152.43
FJ9721-16-16	-16 ORS 90 CRIMP FITTING	1	\$50.99	\$50.99	\$39.22	\$39.22
FJ9721-20-20	-20 ORS 90 CRIMP FITTING	1	\$33.02	\$33.02	\$25.40	\$25.40
FJ9721-24-24	-24 ORS 90 CRIMP FITTING	2	\$42.36	\$84.72	\$32.58	\$65.17
FJ9759-16-16	1 NPT MALE CRIMP FITTING	2	\$13.43	\$26.86	\$10.33	\$20.66
FJ9759-20-20 FJ9760-16-16	1-1/4 NPT MALE CRIMP FITT -16 JIC FEM CRIMP FITTING	2 2	\$38.59 \$12.65	\$77.18 \$25.30	\$29.68 \$9.73	\$59.37 \$19.46
FJ9760-20-20	-20 JIC FEM CRIMP FITTING	1	\$29.44	\$29.44	\$22.65	\$22.65
FJ9761-16-16	-16 FLANGE CRIMP FITTING	1	\$18.85	\$18.85	\$14.50	\$14.50
FJ9782-12-12	-12 JIC FEM CRIMP FITTING	99	\$30.85	\$3,054.15	\$23.73	\$2,349.35
FJ9782-16-16	-16 JIC FEM CRIMP FITTING	7	\$26.98	\$188.86	\$20.75	\$145.28
FJ9784-12-12	-12 FLANGE CRIMP FITTING	18	\$89.51	\$1,611.18	\$68.85	\$1,239.37
FJ9784-16-16	-16 FLANGE CRIMP FITTING	4	\$31.49	\$125.96	\$24.22	\$96.89
FJ9788-12-12 FJ9788-16-16	-12 FLANGE 30 CRIMP FITTIN -16 FLANGE 30 CRIMP FITTIN	6 5	\$19.05 \$23.78	\$114.30 \$118.90	\$14.65 \$18.29	\$87.92 \$91.46
FJ9790-12-12	-10 FLANGE 30 CRIMP FITTIN -12 FLANGE 45 CRIMP FITTIN	6	\$23.76 \$24.81	\$148.86	\$18.29 \$19.08	\$114.51
FJ9790-16-16	-16 FLANGE 45 CRIMP FITTIN	2	\$39.14	\$78.28	\$30.11	\$60.22
FJ9795-12-12	-12 FLANGE 90 CRIMP FITTIN	8	\$54.06	\$432.48	\$41.58	\$332.68
FJ9795-16-16	-16 FLANGE 90 CRIMP FITING	5	\$52.00	\$260.00	\$40.00	\$200.00

			11	Takal		Tatal
			Unit Replacement	Total Replacement	Unit Replacement	Total Replacement
Item Number	Description	Qty	Cost (CAD)	Cost (CAD)	Cost (USD)	Cost (USD)
FJ9796-12-12	-12 FLANGE 90 CRIMP FITTIN	6	\$51.12	\$306.72	\$39.32	\$235.94
FJ9802-12-12	-12 JIC 90 CRIMP FITTING	44	\$40.49	\$1,781.56	\$31.15	\$1,370.43
FJ9802-16-16 FJ9896-16-16	-16 JIC 90 CRIMP FITTING -16 ORS FEM CRIMP FITTING	1 1	\$44.58 \$26.63	\$44.58 \$26.63	\$34.29 \$20.48	\$34.29 \$20.48
SS1AA20FJ20C	STAINLESS -20JIC CRIMP FTG	7	\$172.35	\$1,206.45	\$132.58	\$928.04
1A20BT20	#20 BSPT MALE FITTING	4	\$52.15	\$208.60	\$40.12	\$160.46
1B12BT12	#12BSPT MALE 4 WIRE FTTG.	5	\$16.52	\$82.60	\$12.71	\$63.54
1B20DLB12	#20 DKO FEM SWVL X 90 FTG	2	\$47.45	\$94.90	\$36.50	\$73.00
1B24FHA20 1B24FLE20	#24 FLANGE 45 HOSE FITTING	3 2	\$79.00	\$237.00	\$60.77	\$182.31
1B24FLE20 1B24FLF20	#24 FLANGE 67-1/2 HOSE FTG #24 FLANGE 30 HOSE FTG	2	\$98.34 \$81.70	\$196.68 \$163.40	\$75.65 \$62.85	\$151.29 \$125.69
1BA12MJ10	#12 JIC MALE HOSE FIT	11	\$10.96	\$120.56	\$8.43	\$92.74
1E12BFA12	#12 BSPP X 45 FEMALE FTG	25	\$39.08	\$977.00	\$30.06	\$751.54
1E16BFA12	#16 BSPP X 45 FEMALE FTG	5	\$44.78	\$223.90	\$34.45	\$172.23
1E16BFA16	#16 BSPP X 45 FEMALE FTG	23	\$49.82	\$1,145.86	\$38.32	\$881.43
1E20BFA16	#20 BSPP X 45 FEMALE FTG	3	\$68.33	\$204.99	\$52.56	\$157.68
1E20BFA20	#20 BSPP X 45 FEMALE FTG	16 23	\$67.08 \$44.08	\$1,073.28	\$51.60	\$825.60
1E12BFB12 1E16BFB12	#12 BSPP X 90 FEMALE FTG #16 BSPP X 90 FEMALE FTG	23 5	\$44.06 \$46.65	\$1,013.84 \$233.25	\$33.91 \$35.88	\$779.88 \$179.42
1E16BFB16	#16 BSPP X 90 FEMALE FTG	16	\$51.89	\$830.24	\$39.92	\$638.65
1E20BFB16	#20 BSPP X 90 FEMALE FTG	3	\$75.79	\$227.37	\$58.30	\$174.90
1E20BFB20	#20 BSPP X 90 FEMALE FTG	21	\$84.31	\$1,770.51	\$64.85	\$1,361.93
1E12CTE12	#12 CAT FLANGE X 67.5 FTG	23	\$34.34	\$789.82	\$26.42	\$607.55
1E16CTE16	#16 CAT FLANGE X 67.5 FTG	26	\$44.43	\$1,155.18	\$34.18	\$888.60
1E20CTE16	#20 CAT FLANGE X 67.5 FTG	20	\$86.97	\$1,739.40	\$66.90	\$1,338.00
1E12CTF12 1E16CTF16	#12 CAT FLANGE X 30 FTG #16 CAT FLANGE X 30 FTG	10 29	\$43.98 \$59.31	\$439.80 \$1,719.99	\$33.83 \$45.62	\$338.31 \$1,323.07
1E20CTF16	#20 CAT FLANGE X 30 FTG	29 17	\$70.67	\$1,719.99	\$54.36	\$924.15
1E25DSB16	#25 DKO HD X 90 FITTING	4	\$76.76	\$307.04	\$59.05	\$236.18
1E16FHA16	#16 CD62 X 45 FLANGE FTG	11	\$51.41	\$565.51	\$39.55	\$435.01
1EA16FRA16	#16 ORS FEMALE X 45 FTG	1	\$61.78	\$61.78	\$47.52	\$47.52
1Z16CTD16	#16 CAT FLANGE X 22.5 FTG	1	\$53.31	\$53.31	\$41.01	\$41.01
1Z20CTD20	#20 CAT FLANGE X 22.5 FTG	2	\$70.67	\$141.34	\$54.36	\$108.72
1Z16CTE16	#16 CAT FLANGE X 67.5 FTG	1 1	\$48.87	\$48.87	\$37.59	\$37.59
1Z16CTG16 1Z20CTG20	#16 CAT FLANGE X 60 FTG #20 CAT FLANGE X 60 FTG	3	\$48.87 \$86.97	\$48.87 \$260.91	\$37.59 \$66.90	\$37.59 \$200.70
1Z24CTG20	#24 CAT FLANGE X 60 FTG	3	\$142.61	\$427.83	\$109.70	\$329.10
1Z32DS16	#32 DKO HD SWIVEL 6 WIRE	1	\$80.64	\$80.64	\$62.03	\$62.03
1Z25DSA16	#25 DKO HD X 45 6 WIRE FTG	2	\$77.74	\$155.48	\$59.80	\$119.60
1Z32DSA16	#32 DKO HD X 45 6 WIRE FTG	2	\$86.08	\$172.16	\$66.22	\$132.43
1Z32DSA20	#32 DKO HD X 45 6 WIRE FTG	2	\$113.99	\$227.98	\$87.68	\$175.37
1Z25DSB16 1Z32DSB16	#25 DKO HD X 90 6 WIRE FTG #32 DKO HD X 90 6 WIRE FTG	2 2	\$84.44 \$77.99	\$168.88 \$155.98	\$64.95 \$59.99	\$129.91 \$119.98
1Z20FL20	#20 CD61 FLANGE 6 WIRE FTG	3	\$67.55	\$202.65	\$51.96	\$1155.88
1ZA16FJA16	#16 JIC FEMALE X 45 6 WIRE	1	\$40.99	\$40.99	\$31.53	\$31.53
1ZA16FRB16	#16 ORS FEMALE X 90 6 WIRE	1	\$58.42	\$58.42	\$44.94	\$44.94
6S20FHB24	#20 CD62X90 FLANGE FTG	7	\$63.00	\$441.00	\$48.46	\$339.23
1406-20	#20 CRIMP SOCKET FOR 2767	4	\$7.45	\$29.80	\$5.73	\$22.92
90H06-065500-0	#6 FJIC X 3/8 SYNFLEX FTG	204	\$5.14	\$1,048.56	\$3.95	\$806.58
186101-8-6 186101-8-10	1/2 NPT MALE HOSE STEM 1/2 NPT MALE NIPPLE	10 6	\$0.64 \$1.40	\$6.40 \$8.40	\$0.49 \$1.08	\$4.92 \$6.46
186101-12-8	3/4 NPT MALE HOSE STEM	4	\$3.71	\$14.84	\$2.85	\$11.42
6-74431	FLANGE BRACKET	4	\$16.82	\$67.28	\$12.94	\$51.75
6-180028-8	#8 CODE 61 FLANGE BRACKET	2	\$3.46	\$6.92	\$2.66	\$5.32
FC1229-10-8	#10ORS FACE X 1/2 BR. FTG	1	\$4.87	\$4.87	\$3.75	\$3.75
FC1229-12-8	#12ORS FACE X 1/2 BR. FTG	2	\$9.86	\$19.72	\$7.58	\$15.17
FC1229-14-14	#14ORS FACE X 7/8 BR. FTG	1	\$2.61	\$2.61	\$2.01	\$2.01
FC1422-6 FC1422-8	#6 ORS BT NUT #8 ORS BT NUT	1 12	\$0.41 \$1.86	\$0.41 \$22.32	\$0.32 \$1.43	\$0.32 \$17.17
FC1422-10	#10 ORS BT NUT	2	\$5.99	\$11.98	\$4.61	\$9.22
FC1422-16	#16 ORS BT NUT	1	\$1.68	\$1.68	\$1.29	\$1.29
FF5162-8-8	#8 JIC X #8 FL ADAPTER	5	\$32.01	\$160.05	\$24.62	\$123.12
FF9835-6	#6 ORS BT FERRULE	2	\$0.70	\$1.40	\$0.54	\$1.08
FF9835-8	#8 ORS BT FERRULE	13	\$1.37	\$17.81	\$1.05	\$13.70
FF9835-10	#10 ORS BT FERRULE	2	\$1.12	\$2.24	\$0.86	\$1.72
FF9835-16 FF9835-20	#16 ORS BT FERRULE #20 ORS BT FERRULE	2 1	\$1.07 \$3.02	\$2.14 \$3.02	\$0.82 \$2.32	\$1.65 \$2.32
FT1023-3-38	BEARING	1	\$6.00	\$6.00	\$4.62	\$4.62
GG108NP-5-14	#5 JIC - M14 X 1.5	7	\$6.97	\$48.76	\$5.36	\$37.51
15.063-42-32	32MJ-52MM L ADAPT	1	\$17.68	\$17.68	\$13.60	\$13.60
15.147-25-20	#20JIC MALE METRIC ADAPTER	2	\$21.60	\$43.20	\$16.62	\$33.23
259-202702-8-8	#8 ORB X #8 JIC ADAPTER	14	\$8.90	\$124.60	\$6.85	\$95.85
2004-16-16	1 NPT X #16 PTT ADAPTER	3 2	\$22.04 \$16.54	\$66.12	\$16.95	\$50.86 \$35.45
2006-20-20	1-1/4 NPT FEM X #20 PTT	2	\$16.54	\$33.08	\$12.72	\$25.45

			Unit	Total		Total
			Replacement	Replacement Un	it Replacement	Replacement
Item Number	Description	Qty	Cost (CAD)	Cost (CAD)	Cost (USD)	Cost (USD)
2020-14-14	#14 JIC CROSS	1	\$13.48	\$13.48	\$10.37	\$10.37
FD40-1001-4-4	1/4 NPT MALE COUPLER BODY	10	\$4.78	\$47.80	\$3.68	\$36.77
FD40-1001-6-6	3/8 NPT MALE COUPLER BODY	50	\$7.61	\$380.50	\$5.85	\$292.69
FD40-1001-8-6	1/2 NPT -06 COUPLER	1	\$5.21	\$5.21	\$4.01	\$4.01
FF013-6	FD45 COUPLER REPAIR KIT	2	\$15.69	\$31.38	\$12.07	\$24.14
FF016-4	FD45 BRASS COUPLER KIT	1	\$2.19	\$2.19	\$1.68	\$1.68
FF016-10	FD45 BRASS COUPLER KIT	1	\$3.40	\$3.40	\$2.62	\$2.62
FF016-20	FD45 BRASS COUPLER KIT	1	\$13.72	\$13.72	\$10.55	\$10.55
5669-10-10	#10 ORB HYD COUPLER ADAPTE	1	\$43.17	\$43.17	\$33.21	\$33.21
TOTAL		2659		\$94,541.36		\$72,724.12

REPLACEMENT COSTS ARE SHOWN FOR <u>REFERENCE ONLY</u>
THE SUPPLIER IS LOOKING FOR REASONABLE OFFERS ON THIS INVENTORY

MILLIONS MORE AT 35% - 60% DISCOUNT ON OUR WEBSITE DOES YOUR VENDOR GIVE YOU EXTRA DISCOUNTS? - WE DO!

ALL PRODUCT GUARANTEED MAKE AN OFFER

www.deadstockbroker.com